MM

3
—
o
o
= . 8
] ' o
5] 2 |MEn|®
2l=3 |= 3%
—= =[N Z=
.. 3 Z
_I-.W.M.. 8“8
. 0 =
@ o
Elc S 8o
Ol U m =
= - -—
|_H:A...|: @
ol @™ 2 L
Q== -
OD.N/».H =\
Na- ~ o
o — 0o
o o
) B
~ =} =TI
|| Tum
& _._|G
Pt X~
= s
2 h
s 3
w|o o
W]
Zloe < +
n-o..wﬂ1.. o
gl£4 o
(o]
_ LA O
s — A e
m.—s—\ LN

86.5
66.5
18.5
83.5

T

kL

S oL

"NDIS30 30 13A0W ALITILA “INILVd V 40 LNVYD 3HL 40 IN3IAT FHL NI QIAY3SIY SLIHDIY 11V "SIDVWVA 40 INIWAVC 3FHL 404 318vIT 0T3H 39 111 M SYIANIJ40 "031191HONd
SI NOILYZIYOHLNY Q1317dX3 LNOHLI M SY3IHLO OL SLNILNOJ SLI 40 NOILVIINNWWO] 3HL SV T1IM S¥Y IN3IWNJ0Q SIHL 40 NOILVZITILN ANV NOILNGIYLSIA *NOILINA0¥dIY IHL
"NILTVHIGH0A DNNDVYLNII-JILSNWSHINYAFID 3300 DNNTIILYILINILYd 430 T1vd N3IQ d3Nd JLHIIY 311V "ZLVSIINIAYHIS NZ NILHIIT4ddIA NIDNNTANVHAIIAI MNZ

"NIONV1S39NZ HIITHIINIASAY LHIIN LIIMOS *1ILLVISID LHIIN LS| SLIVHNI SI4HI ONNTIZLLIW ONN DONNLYIMIIA *NIDVINIINN 335310 DNNDILT1IVATIIAYIA 31 MOS 3GvDd3LIAM 9109 0SI D)

€10

oqeblald 020z0TTZ




